Corrections for the Introduction to Sets Video
The example: Write the set of multiples of 5.


This is not a well-defined set. 


The example should read: Write the set of natural number multiples of 5 in list 


form.



The result is {5, 10, 15, 20, …}


To better understand why the original is not well-defined consider the following 

two examples:



Write the set of whole number multiples of 5 in list form.




{0, 5, 10, 15, …}   Note that 0 is in this set.



Write the set of integer multiples of 5 in roster form.




{…,  –15, –10, –5, 0, 5, 10, 15, …}

The example: Numbers 12 is divisible by.

This is not a well-defined set.


The example should read:  Natural numbers that 12 is divisible by.



The result is {1, 2, 3, 4, 6, 12}.


To illustrate why the original is not well-defined consider the following example:



Rational numbers that 12 is divisible by.



Note that ½ is in this set since 12 divided by ½ is 24.

Set-builder Notation.
The example: Write {5, 6, 7} is set-builder notation.


A variable name for the elements of the set is part of the notational form.


Do not write {counting numbers from 5 to 7, inclusive}


You may write the set in any of the following ways:



{x | x is a counting number from 5 to 7, inclusive.}



{x : x is a counting number form 5 to 7, inclusive.}



{x | x is a counting number and 5 ≤ x ≤ 7}



{x : x is a counting number and 5 ≤ x ≤ 7}



{x | x є N and 5 ≤ x ≤ 7}



{x : x є N and 5 ≤ x ≤ 7}
